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3.(0) 24230cm e 5d $# 00 52 fiFE ki 333 rpm ° R 1 (a) &4

Bos(b)5 #yp ik Bl (c) 5 Bl R (d) =1 fypFg ) chis e
2o B (e) ¥ =3 ER(d) -
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LR 2 F18F A R g a)=33§ rpm = 3.49 rd/s

(@) w=w,+at, 349=ax2 . .a=1.7451/s";(1.16)

(b) 61 = 1/20 = 1/2(1.745)(2)> = 3.49 rad > 6, =3 x 3.49 = 10.47 rad
0=61+6,=3.49+1047=13.96 rad =2.22 rev
(c)m 2§, ¥ 3.49rad 6=2(27)=3.49+3.49¢, .1, =2.6. t=2+2.6=4.6s
dt=1s> w=w,+at=0+1.745x1=1.7451/s >
a-=w’r=046 m/s’>; a;=ar=0.26m/s’.
(e)t=2sfs % &k R *d > ©=3.49rd/s>
ar= w*r=3.49%(0.15)=1.83 m/s*>; a;=0

4.(I) 2/30cm «ALP(*8 %) 2 45rpm *87 20 4 ° (a) RA=4sghefug 0 H
r=145cm; (b) a2 g ¥ » L r=62cm; (c) "4 s £ 5 (d) 8
BENTEER -



= M =4.71 rad/s

(a)v=row=0.145x4.71=0.683 m/s

by =rov=0.062x4.71=0.292 m/s

(c)v=Ar/t=(0.062—-0.145)/20(60) = —6.92x10~> m/s

(d)45 rpm 3 7 20 4 £ & 900 B & iedE 2 (0.145-0.062) = 0.083 m
SEILRE R R R R S 0.083/900 =9.22x10° m

5.() K750 gApE s e enig 3; (a) A % (Quito > /o /& % F %) 1 b
(b) LB o R 41° B3 LT 6370 km -

(a) a):z—ﬁ: 27 =7.27x107 rad/s
1d 24h\( 60 m \( 60s
(1d)
d h m
v=wR =(7.27x107)(6370x10%) = 463 m/s
(b) v=wRcos41°=349 m/s

6.() - FEMERFR 0 2 &4 R o 8- L5 r PREH o HP RRSeiE
B i a=ro*+o?)? e

a=\a+a =Jo'r* +a*r

7.(I) - Péafiét£ 8eme Fétkxfa(a) i R ;5 (b) Mt F o
(a) w =27 /60 = 7/30 rad/s;
(b) v=wr=0.838 cm/s

8.(I) - B erhL s s 20cme 4= FFH 2 120rpm 4 » T - A 4T H T 90
@) R IE) BA BT AT FRORRG FH
(@) AO=wot + 1/2a> > FI* (90 x 27) = 47(60) + 1/2a(60)> >
& o =-m/30=-0.105 rad/s>.
(b)t=60s > w=awo+ at=4r — (7/30)(60) = 27 rad/s.
0° =(27)* +2(-0.105)0 .6 =188 rad
S=r60=02x188=37.6 m

9.(I) - 2 H#HmL e 25em > A 10s pd #Fak4ei@ 3 30m/se § 2 5 5 2m/s



B‘«t FEHTAPE () s 5 (b) FRDIER -
() 30=0+a(10)’ a=3m/s> » F|P a=3m/s’=ar. (a=a/r=12rad/s?)
=v/r=16m/s> (& ) » F|* a=3i-16jm/s
(b) ar=a2r)=6m/s> » a,=(2v)*/2r =32 m/s?
# a=6i-232j m/s’
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v=on=0,5 ° =5=1.67 (cm)
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+m><22]+m3r32

:%(2)(4)+(4)(%+16]+(2)(62) =145 (kg - m%)

12.() & 72k FRAS 5 2kg % Skgo o £ 2m hjspd s ££5 2
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(a) 1="7 (kg.m’)
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2 2
10m=2(§) +5Gj =5.71 (kg - m%)

13.(ID) T5 & L6 4d fpk himdtie s > 0 %Y wdb? e s ff £ 1 (a)
PR 2a mﬂ (b) - & 20 chr 2355 (c) R 4T R 20
H>& :’ﬂ%‘r
(a) ma® =2nia’ =6.2814°

2
(b) 4m(lL—2+aj 332/1 3=10.71a

(C) (3)(22,0)(461 ) [__Féj 4&03

14.(I0) kA5 & ~§F RFFELIxI0" m> 2 hFFR 5 mo=16mu> £ 7
mi= 1.67x107 o & H-O 4% & 5 105° (L B 11.30) « FA 5 7 7| $heh
HHEE (@ ir- H-04 - 2(0b) #0 R+ T HF3A H R+ BRDH
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(@)] =1.67x1077(9%x107"' sin105°)* =1.26x10™" (kg - m?)
(b)] =2x1.67x1077(9x107" c0s52.5°)> =1.0x10™" (kg - m?)

15.() #3kpggenteic 5 2 Fl k230 ki - HE# £ 1=033 MR® -
1=033 MR2=8.01 x 10 (kg » m?)

o =2m/1d=727 %107 (rad/s)

K=1/2 I?=2.12 x 10° (J)



16.(I) - % K&t s - TF 12kg G395 > £ 60cme 8 A4 - 2 /2
S5cm & F# 0.4kg HF14 > 4B 1131 - dafid 2453 % 30° £ §8% > (a)
LSRR T SRR S SR E T

2
(a)l:[%H.2xo.32j+(%xo.4xo.052+o.4><o.652j=0.314 (kg - m?)

(b) Ei = (MgL/2 + Magl)(1 — cos 6) = 0.814
Er=1/2 Io*=1/2 (0.314) ? » £18 o =2.28rad/s »
Fpt v =0.7(2.28) = 1.59 (m/s)

17.() - #F 5 0.03kg m2ch? g5 FP d 480 4eid 5] 20 rad/s = § *
PR ME lmin 2R e R (a) B RS (D) A AR

() a=-1/3rad/s> » 7r=Ila=0.01 N » m;

0)20=0+a5) + a=4
te—tr=1(4rad/s?) » F]¥ g=0.13N+m

18. (II) — H#m4~ 2 1200 rpm #EH> > A5 X B (¥ T30 4min Bk o ¥
-4 E300N-m> ¢S5 I min iz o (a) R E 5P 2(0b) B
BAEd 0
(a) wo=40rrad/s > 0=407+ a1 4(60) ° a1 =-/6 (rad/s?)
0=407+ a2 (60) ° 02=—4n/6 (rad/s?)
w=t/l 1% oy=(c+300) » 7 £@ =191 (kg -+ m?)
(b) 7t = Ia1 =100 (N * m)

19. (1) &B 1132 ¢ &4 gFpdghend 52 F1=10N> F,=15N>F;=8N"-
L=8m-
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7, =4x10sin60° =34.64 N - m(if p¥45)
7, =2x15c0845°=21.21 N - m("g = 48)
7, =4x8sin90° =32 N - m(if p¥43)
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(a) Mgh = 1/2 (3/2 MR?) w? leads to v = (4gh/3)"? ;
(b) v* = 2gh, thus a = 2g/3;
(c) Take t about the point of contact with the string.

t=lo: mgR = (3/2 MR*)(a/R), thus a = 2g/3;
(d) mg — T=ma, thus T = mg/3;
(e) Need 7'= mg. Take 7 abou the center:

t=1o: TR = (1/2 MR?)a, leads to a. = 2g/R.

21. (A1) - F o~ A P RREAFA T o (a) REF4d R (b) REL
FEeihkc| Bl P 7
(a) mgsin 0 — f=ma; fR = la which leads to f= Ma/2.
Solving to find a = 2g sind/3.



(b) f=Ma/2 = mg sin 6/3 = p(mg cos ). Thus p = tan 6/3.

22.(I) — #8 15kg svkd #¢ 12 20cm/s Fig 2 o hB¥EL- LT 3cm
Rt @ - £ 40cm hfs = AgEH v o 4B 11340 (a) & # i + 2 b

£
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(a) P = mgv = 15x9.8x0.2 = 29.4 (W);
(b) F(0.4) = mg(0.03) = 15x9.8x0.03 = 4.41, thus F ~11 (N).



